
 

 

 

             Problem Solving: Capacity  
 

1.  Consider the 2 Coke bottles below.  

     How much Coke is there in total in each group? 
 
         a)                                     b)     
 
 
 
 

           _____ × _____  = _____                    _____ × _____  = _____           

 

        c) 

         _____ × _____  = _____           

 

 

   2.   One teacup can hold 250 m of tea. 

         How much tea does Gran drink if she drinks: 
 
         a)  2 cups of tea?    _____ × _________  = _____           
 
         b)  3 cups of tea?    _____ × _________  = _____           
 
         c)  4 cups of tea?    _____ × _________  = _____           
 

 

 

 

 

 


